
S10 (mod 3)

blocks defect matrix

G : 1 4 22× 10
2 2 9× 5
3 2 9× 5
4 0 5671 = χ24,0, ϕ11,0

5 0 5672 = χ24,1, ϕ11,1

2.G : 6 4 12× 6
7 1 3× 1

Block 1: ϕ1,0 ϕ1,1 ϕ3,0 ϕ3,1 ϕ5,0 ϕ5,1 ϕ6,0 ϕ6,1 ϕ9,0 ϕ9,1

11 = χ1,0 1 . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . .

351 = χ3,0 1 . 1 . . . . . . .
352 = χ3,1 . 1 . 1 . . . . . .
421 = χ5,0 . 1 . . 1 . . . . .
422 = χ5,1 1 . . . . 1 . . . .
751 = χ6,0 . . 1 . 1 . . . . .
752 = χ6,1 . . . 1 . 1 . . . .
841 = χ7,0 . . . . . . 1 . . .
842 = χ7,1 . . . . . . . 1 . .

1601 = χ10,0 1 . 1 . 1 . 1 . . .
1602 = χ10,1 . 1 . 1 . 1 . 1 . .
2101 = χ11,0 . 1 . . 1 . 1 1 . .
2102 = χ11,1 1 . . . . 1 1 1 . .
4481 = χ12+ . . . . . . . . 1 1
3001 = χ17,0 . 1 . 1 1 . . . 1 .
3002 = χ17,1 1 . 1 . . 1 . . . 1
3501 = χ19,0 1 . . . 1 . 1 . 1 .
3502 = χ19,1 . 1 . . . 1 . 1 . 1
7681 = χ20+ 1 1 1 1 1 1 1 1 1 1
5251 = χ23,0 1 1 1 . 1 . . . 1 1
5252 = χ23,1 1 1 . 1 . 1 . . 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ3,0 = 341
ϕ3,1 = 342
ϕ5,0 = 411

ϕ5,1 = 412
ϕ6,0 = 841
ϕ6,1 = 842
ϕ9,0 = 2241
ϕ9,1 = 2242



Block 2: ϕ2,0 ϕ4,1 ϕ7,0 ϕ8,0 ϕ10,1

91 = χ2,0 1 . . . .
362 = χ4,1 . 1 . . .
901 = χ8,0 . . 1 . .

1261 = χ9,0 . . . 1 .
2251 = χ14,0 1 . 1 1 .
2521 = χ15,0 . 1 1 1 .
2882 = χ16,1 1 . . . 1
3152 = χ18,1 . 1 . . 1
4502 = χ22,1 1 1 . 1 1

ϕ2,0 = 91
ϕ4,1 = 362
ϕ7,0 = 901
ϕ8,0 = 1261
ϕ10,1 = 2792

Block 3: ϕ2,1 ϕ4,0 ϕ7,1 ϕ8,1 ϕ10,0

92 = χ2,1 1 . . . .
361 = χ4,0 . 1 . . .
902 = χ8,1 . . 1 . .

1262 = χ9,1 . . . 1 .
2252 = χ14,1 1 . 1 1 .
2522 = χ15,1 . 1 1 1 .
2881 = χ16,0 1 . . . 1
3151 = χ18,0 . 1 . . 1
4501 = χ22,0 1 1 . 1 1

ϕ2,1 = 92
ϕ4,0 = 361
ϕ7,1 = 902
ϕ8,1 = 1262
ϕ10,0 = 2791

Block 6: ϕ12,0 ϕ12,1 ϕ13,0 ϕ13,1 ϕ16,0 ϕ16,1

161 = χ25,0 1 . . . . .
162 = χ25,1 . 1 . . . .
961 = χ26+ . . 1 1 . .

1281 = χ28+ 1 1 1 1 . .
6721 = χ32+ 1 1 . . 1 1
7682 = χ34+ 1 1 1 1 1 1
4001 = χ36,0 1 1 1 . . 1
4002 = χ36,1 1 1 . 1 1 .
4482 = χ38,0 1 1 1 1 1 .
4483 = χ38,1 1 1 1 1 . 1
8001 = χ39,0 2 2 1 1 1 1
8002 = χ39,1 2 2 1 1 1 1

ϕ12,0 = 161
ϕ12,1 = 162
ϕ13,0 = 481
ϕ13,1 = 482
ϕ16,0 = 3201
ϕ16,1 = 3202



Block 7: ϕ14+

4321 = χ30+ 1
4322 = χ37,0 1
4323 = χ37,1 1

ϕ14+ = 4321


